Int. J. Nonlinear Anal. Appl. 14 (2023) 1, 2623–2632 ISSN: 2008-6822 (electronic) http://dx.doi.org/10.22075/ijnaa.2023.27520.3636



# Soliton solutions and other analytical solutions of a new (3+1)-dimensional novel KP like equation

Ben Muatjetjeja<sup>a,b</sup>, Thabo Moretlo<sup>b,c</sup>, Abdullahi Adem<sup>d,\*</sup>

<sup>a</sup>Department of Mathematics, Faculty of Science, University of Botswana, Private Bag 22, Gaborone, Botswana

<sup>b</sup>Department of Mathematical Sciences, North-West University, Mafikeng Campus, Private Bag X2046, Mmabatho 2735, Republic of South Africa

<sup>c</sup>Department of Mathematical Sciences, Sol Plaatje University, Private Bag X5008, Kimberly, 8300, Republic of South Africa <sup>d</sup>Department of Mathematical Sciences, University of South Africa, UNISA 0003, Republic of South Africa

#### Abstract

We study a new (3+1)-dimensional novel KP-like equation. We show that this equation admits topological soliton solutions. These will be attained via the aid of ansatz methods. Furthermore, mixed solutions consisting of singular and periodic solutions and others are derived. Moreover, other analytical solutions based on modern group analysis are derived. In addition, low-order conservation laws are constructed.

Keywords: Topological soliton solutions, Periodic solutions, Point symmetries, Conservation laws 2020 MSC: 35C08

#### 1 Introduction

Recently, many research activities [6, 2] on solitary waves theory, predominantly on integrable systems, have attracted a lot of researchers. This is due to the fact that solitary waves theory has found a lot applications in many areas of nonlinear science, such as engineering, plasma physics, biology and other fields of mathematical physics. In the past decade, researchers have confined their application of solitary waves theory to (1 + 1) and (2 + 1)-dimensional equations[14]. However, it was later found that solitary waves theory plays a significant role in the study of higher dimensional integrable equations. It is for this reason, that motivated authors in [8] to establish a new (3+1)-dimensional novel KP like equation. given by

$$\alpha u_{tz} - \beta u_{xxxy} - 3 (u_{xx} u_y + u_x u_{xy}) + \gamma (u_{xx} + u_{xy} + u_{xz}) = 0,$$
(1.1)

where  $(\alpha, \beta, \gamma)$  are arbitrary parameters. Authors in [8] used the simplified linear superposition principle to derive resonant multi-soliton solution of equation (1.1). It can easily be noticed that equation (1.1) is a natural extension of the famous B-type Kadomtsev–Petviashvili (BKP) equation[8] and references therein. To the best of our knowledge, topological soliton solutions, singular and periodic solutions and point symmetries of the aforesaid equation have not be reported in the literature.

The objectives of this work is two fold. Firstly, we will implement the ansatz methods so as to derive topological

\*Corresponding author

Email addresses: muatjetjejab@ub.ac.bw (Ben Muatjetjeja), thabo.moretlo@spu.ac.za (Thabo Moretlo), ademar@unisa.ac.za (Abdullahi Adem)

soliton solutions. Furthermore, we will employ the Tan-Cot method to attain singular and periodic solutions. In addition, symmetry method will be invoked to obtain some other analytical solutions and lastly construct some *low-order* conservation laws are constructed via the multiplier approach.

#### 2 Soliton solutions

This section aims to compute topological 1-soliton solution of equation (1.1). This will be attained via a hypothesis method. In order to search for dark soliton solutions or shock waves or kinks, we begin our hypothesis [14, 12, 15, 13] in the form of

$$u(t, x, y, z) = \lambda \tanh^p \tau, \tag{2.1}$$

where the wave variable  $\tau$  is defined by  $\tau = \eta x + \delta y + \varphi z - \nu t$  while  $\eta$ ,  $\delta$  and  $\varphi$  are unknown free parameters representing the inverse width of the wave.  $\nu$  is the velocity of the soliton and p is a positive exponent that will be determined. The hypothesis (2.1) yields

$$u_x = \lambda \eta p(\tanh^{p-1} \tau - \tanh^{p+1} \tau), \qquad (2.2)$$

$$u_{xx} = \lambda \eta^2 p(p+1) \tanh^{p+2} \tau + \lambda \eta^2 p(p-1) \tanh^{p-2} \tau - 2\lambda \eta^2 p^2 \tanh^p \tau, \qquad (2.3)$$

$$u_{xy} = \lambda \eta \,\delta \,p(p+1) \tanh^{p+2} \tau + \lambda \eta \,\delta \,p(p-1) \tanh^{p-2} \tau - 2\lambda \eta \,\delta \,p^2 \tanh^p \tau, \tag{2.4}$$

$$u_{xz} = \lambda \eta \varphi p(p+1) \tanh^{p+2} \tau + \lambda \eta \varphi p(p-1) \tanh^{p-2} \tau - 2\lambda \eta \varphi p^2 \tanh^p \tau, \qquad (2.5)$$

$$u_{tz} = -\lambda \varphi \nu p(p+1) \tanh^{p+2} \tau - \lambda \varphi \nu p(p-1) \tanh^{p-2} \tau + 2\lambda \varphi \nu p^2 \tanh^p \tau, \qquad (2.6)$$

$$u_y = \lambda \,\delta \, p \tanh^{p-1} \tau - \lambda \,\delta \, p \tanh^{p+1} \tau, \tag{2.7}$$
$$u_y u_{xx} = -\lambda^2 \, n^2 \,\delta \, p^2 (p+1) \tanh^{2p+3} \tau + \lambda^2 \, n^2 \,\delta \, p^2 (p-1) \tanh^{2p-3} \tau$$

$$+ \lambda^2 \eta^2 \delta p^2 (3p+1) \tanh^{2p+1} \tau - \lambda^2 \eta^2 \delta p^2 (3p-1) \tanh^{2p-1} \tau,$$
(2.8)

$$u_{x}u_{xy} = -\lambda^{2} \eta^{2} \delta p^{2}(p+1) \tanh^{2p+3} \tau + \lambda^{2} \eta^{2} \delta p^{2}(p-1) \tanh^{2p-3} \tau + \lambda^{2} \eta^{2} \delta p^{2}(3p+1) \tanh^{2p+1} \tau - \lambda^{2} \eta^{2} \delta p^{2}(3p-1) \tanh^{2p-1} \tau,$$

$$u_{n=0} = -\lambda \eta^{3} \delta p(p+3)(p+2)(p+1) \tanh^{p+4} \tau + \lambda \eta^{3} \delta p(p-1)(p-2)(p-3) \tanh^{p-4} \tau$$
(2.9)

$$\begin{aligned} &-\chi \eta^{3} \,\delta \,p(p+3)(p+2)(p+1) \tanh^{p+2} \tau + \chi \eta^{3} \,\delta \,p(p-1)(p-2)(p-3) \tanh^{p-2} \tau \\ &-4\,\lambda \,\eta^{3} \,\delta \,p(p+1)(p^{2}+2p+2) \tanh^{p+2} \tau - 4\,\lambda \,\eta^{3} \,\delta \,p(p-1)(p^{2}-2p+2) \tanh^{p-2} \tau \\ &+2\,\lambda \,\eta^{3} \,\delta \,p^{2}(3p^{2}+5) \tanh^{p} \tau. \end{aligned}$$

$$(2.10)$$

The substitution of equations (2.2)-(2.10) into equation (1.1), gives

$$\begin{aligned} &-\lambda \eta^{3} \,\delta \,\beta p(p+3)(p+2)(p+1) \tanh^{p+4} \tau - \lambda \,\eta^{3} \,\delta \,\beta p(p-1)(p-2)(p-3) \tanh^{p-4} \tau \\ &+ (4 \,\eta^{3} \,\delta \,\beta (p^{2}+2p+2) - \alpha \,\varphi \,\nu + \gamma \,\eta (\eta + \delta + \varphi)) \lambda \,p(p+1) \tanh^{p+2} \tau \\ &+ (4 \,\eta^{3} \,\delta \,\beta (p^{2}-2p+2) - \alpha \,\varphi \,\nu + \gamma \,\eta (\eta + \delta + \varphi)) \lambda \,p(p-1) \tanh^{p-2} \tau \\ &+ 6 \,\lambda^{2} \,\eta^{2} \,\delta p^{2}(p+1) \tanh^{2p+3} \tau - 6 \,\lambda^{2} \,\eta^{2} \,\delta p^{2}(p-1) \tanh^{2p-3} \tau \\ &- 6 \,\lambda^{2} \,\eta^{2} \,\delta p^{2}(3p+1) \tanh^{2p+1} \tau + 6 \,\lambda^{2} \,\eta^{2} \,\delta p^{2}(3p-1) \tanh^{2p-1} \tau \\ &+ 2(\alpha \,\varphi \,\nu - \eta^{3} \,\delta \,\beta (3p^{2}+5) - \gamma \,\eta (\eta + \delta + \varphi)) \tanh^{p} \tau = 0. \end{aligned}$$

To seek for the smallest positive integer p, we equate the highest linear term in tanh with the least nonlinear term in tanh  $\tau$ . This can be achieved by equating powers  $\tanh^{p+4} \tau$  and  $\tanh^{2p+3} \tau$ , to get

$$p+4 = 2p+3,$$

therefore p = 1. Substituting p = 1 into the powers of  $tanh \tau$  only, equation (2.11) reduces to

$$\begin{aligned} &-\lambda \eta^{3} \,\delta \,\beta p(p+3)(p+2)(p+1) \tanh^{5} \tau - \lambda \eta^{3} \,\delta \,\beta p(p-1)(p-2)(p-3) \tanh^{-3} \tau \\ &+ (4 \,\eta^{3} \,\delta \,\beta (p^{2}+2p+2) - \alpha \,\varphi \,\nu + \gamma \,\eta (\eta + \delta + \varphi)) \lambda \,p(p+1) \tanh^{3} \tau \\ &+ (4 \,\eta^{3} \,\delta \,\beta (p^{2}-2p+2) - \alpha \,\varphi \,\nu + \gamma \,\eta (\eta + \delta + \varphi)) \lambda \,p(p-1) \tanh^{-1} \tau \\ &+ 6 \,\lambda^{2} \,\eta^{2} \,\delta p^{2}(p+1) \tanh^{5} \tau - 6 \,\lambda^{2} \,\eta^{2} \,\delta p^{2}(p-1) \tanh^{-1} \tau \\ &- 6 \,\lambda^{2} \,\eta^{2} \,\delta p^{2}(3p+1) \tanh^{3} \tau + 6 \,\lambda^{2} \,\eta^{2} \,\delta p^{2}(3p-1) \tanh^{1} \tau \\ &+ 2(\alpha \,\varphi \,\nu - \eta^{3} \,\delta \,\beta (3p^{2}+5) - \gamma \,\eta (\eta + \delta + \varphi)) \tanh \tau = 0. \end{aligned}$$
(2.12)

Splitting equation (2.12) with respect to the powers of  $\tanh \tau$  and simplify, yields

$$\lambda = \frac{(p+2)(p+3)\beta\eta}{6p} \tag{2.13}$$

and

$$\nu = \frac{-3\beta\delta\eta^{3}((p+3)(p+2)(3p-1) - 2p(3p^{2}+5))}{6p\alpha\varphi} + \frac{\gamma\eta(\eta+\delta+\varphi)}{\alpha\varphi}.$$
(2.14)

Setting p = 1 into (2.13) and (2.14), we obtain

$$\lambda = 2\beta\eta \tag{2.15}$$

and

$$\nu = \frac{\gamma \eta (\eta + \delta + \varphi) - 4\beta \delta \eta^3}{\alpha \varphi}.$$
(2.16)

Consequently, the dark (optical) soliton solution for equation (1.1) is

$$u = 2\beta\eta \tanh\left(\eta x + \delta y + \varphi z - \frac{\gamma\eta \left(\eta + \delta + \varphi\right)t - 4\beta\delta \eta^{3}t}{\alpha\varphi}\right).$$
(2.17)

**Remark 1.** We observe that equation (1.1) admits an optical or shock wave soliton solution if and only if  $\alpha \varphi \neq 0$ . To the best of our knowledge, this crucial observation is reported here for the first time. This observation cannot be found anywhere in the literature. We now present the profile solution of equation (2.17) subject to some choice of the arbitrary parameters.



Figure 1: Kink shape soliton profile of (2.17) corresponding to  $\eta = 1, \varphi = 1, \delta = 0.01, \gamma = 0.1, \alpha = 0.1, \beta = 1, t = 1, z = 1.$ 

In a like manner, we can derive the singular kink solution in the form

$$u = 2\beta\eta \coth\left(\eta x + \delta y + \varphi z - \frac{\gamma\eta \left(\eta + \delta + \varphi\right)t - 4\beta\delta\eta^{3}t}{\alpha\varphi}\right)$$

$$(2.18)$$

y

Figure 2: Singular kink shape soliton profile of (2.18) with  $\eta = 1, \varphi = 1, \delta = 0.01, \gamma = 0.1, \alpha = 0.1, \beta = 1, t = 1, z = 1.$ 

x

**Remark 2.** It is worth noting that a singular kink soliton solution do exists for equation (1.1). However, this singular kink soliton solution can only exist provided that the product of  $\alpha$  and  $\varphi$  is not zero. This is a very remarkable observation that is being mentioned here for the first time. Figure 2 below, gives a graphical presentation of solution (2.18) with respect to some choice of arbitrary constants.

#### **3** Periodic solutions

In this section, we will implement the Tan-Cot ansatz method to derive periodic solutions of equation (1.1). The starting hypothesis is of the form

$$u(x, y, z, t) = \lambda \tan \tau, \tag{3.1}$$

2626

where the wave variable  $\tau$  is defined as  $\tau = \eta x + \delta y + \varphi z - \nu t$ . Proceeding as before and simplify, we obtain the amplitude and velocity of the wave as

$$\lambda = -2\beta\eta,\tag{3.2}$$

and

$$\nu = \frac{\gamma \eta (\eta + \delta + \varphi) + 4\beta \delta \eta^3}{\alpha \varphi},\tag{3.3}$$

respectively.

This in turn gives the periodic solution of equation (1.1) as

$$u = -2\beta\eta \tan\left(\eta x + \delta y + \varphi z - \frac{\gamma\eta (\eta + \delta + \varphi) t + 4\beta \delta \eta^3 t}{\alpha \varphi}\right).$$
(3.4)

The graphical representation of solution (3.4) is presented in figure 3 below.



Figure 3: Periodic profile of solution (3.4) for  $\eta = 1, \varphi = 1, \delta = 0.01, \gamma = 0.1, \alpha = 0.1, \beta = 1, t = 1, z = 1.$ 

Without loss of generality, the singular solution of equation (1.1) is

$$u = 2\beta\eta \cot\left(\eta x + \delta y + \varphi z - \frac{\gamma\eta (\eta + \delta + \varphi) t + 4\beta \delta \eta^3 t}{\alpha \varphi}\right).$$
(3.5)

The profile of solution (3.5) is presented in figure 4 subject to choices of arbitrary parameters.



Figure 4: Periodic profile of solution (3.5) for  $\eta = 1, \varphi = 1, \delta = 0.01, \gamma = 0.1, \alpha = 0.1, \beta = 1, t = 1, z = 1.$ 

**Remark 3.** A commendable observation indicate that periodic solutions due exist for equation (1.1). However, the existence of these solutions imply that the product of the parameters  $\alpha$  and  $\varphi$  ( $\alpha \varphi \neq 0$ ). To the authors knowledge, this outstanding observation is testified for the first time here.

#### 4 Group invariant solutions

In order to derive group-invariant solutions of equation (1.1), one needs to obtained the admitted generators of equation (1.1). This is attained by considering the vector field of the form

$$X = \xi^{1} \frac{\partial}{\partial t} + \xi^{2} \frac{\partial}{\partial x} + \xi^{3} \frac{\partial}{\partial y} + \xi^{4} \frac{\partial}{\partial z} + \eta \frac{\partial}{\partial u}, \qquad (4.1)$$

where  $\xi^i (i = 1, 2, 3, 4)$  and  $\eta$  are functions of (t, x, y, z). Applying the fourth extension of equation (4.1) to equation (1.1) and solve the resulting system of linear partial differential equations, we conclude that equation (1.1) admits infinitely many point symmetries spanned by

$$\begin{aligned} X_1 &= \frac{\partial}{\partial t}, X_2 = \frac{\partial}{\partial x}, X_3 = \frac{\partial}{\partial z}, X_4 = F_1(z) \frac{\partial}{\partial u}, X_5 = F_2(t) \frac{\partial}{\partial u}, X_6 = \frac{3 \frac{\partial}{\partial y}}{3 + \gamma} + \frac{\gamma \frac{\partial}{\partial u}}{3 + \gamma} \\ X_7 &= \alpha t \frac{\partial}{\partial t} + \gamma t \frac{\partial}{\partial x} - \alpha z \frac{\partial}{\partial z}, X_8 = 3\alpha t \frac{\partial}{\partial t} + 3\gamma t \frac{\partial}{\partial x} + 3\alpha y \frac{\partial}{\partial y} + \alpha \gamma y \frac{\partial}{\partial u}, \\ X_9 &= 9\alpha t \frac{\partial}{\partial t} + (3\alpha x + 6\gamma t) \frac{\partial}{\partial x} + (2\alpha\gamma x + \alpha\gamma y - 3\alpha u) \frac{\partial}{\partial u}. \end{aligned}$$

In the theory of Lie symmetries analysis [1, 10, 7], it is well-known that a combination of symmetries will always remain symmetries of the problem at hand. Thus, invoke the combination of  $X_1, X_2$  and  $X_3$ , and solving the associated Lagrange systems, we get four invariants, viz.,

f = y, g = t - z, h = x - z  $\phi = u$ .

Using these invariants together with equation (1.1) and treating  $\phi$  as function of (f, g, h), we get

$$3\phi_h\phi_{fh} + 3\phi_f\phi_{hh} - \gamma\phi_{fh} + \beta\phi_{fhhh} + \alpha\phi_{gg} + \gamma\phi_{gh} + \alpha\phi_{gh} = 0.$$

This in turn gives the group-invariant solution of equation (1.1) as

$$u = 2\beta c_4 \tanh\left(yc_2 + \frac{(\gamma c_4 + \alpha c_4 - \Omega)(t - z)}{2\alpha} + (x - z)c_4 + c_1\right) + c_5,\tag{4.2}$$

where

$$\Omega = \sqrt{\alpha^2 c_4^2 - 16\alpha\beta c_2 c_4^3 + 4\alpha\gamma c_2 c_4 + \alpha\gamma c_4^2 + \gamma^2 c_4^2}$$

and  $c_i$  are constants. The graphically representation of this solution is given in figure 5.



Figure 5: Anti-kink shape soliton profile of (4.2) for the values  $y = 1, z = 1, \alpha = 1, \beta = -1, \mu = 1, \delta = 0.001, \gamma = 0.0001, c_1 = 10, c_2 = 5, c_4 = 20, c_5 = 20$ 

We now make use of the generator  $X_6$ , which yields the following similarity variables

$$f=x, \quad g=z, \quad h=t \quad \phi=u-\frac{1}{3}\gamma y.$$

Consequently, equation (1.1) reduces to

$$\gamma \phi_{fq} + \alpha \phi_{qh} = 0.$$

Thus, we get

$$u = F_3(t, x) + F_4(z, -\alpha x + \gamma t) + \frac{1}{3}\gamma y,$$
(4.3)

as the group-invariant solution of equation (1.1) where  $F_i$  are arbitrary elements with respect to their arguments.

Thirdly, we employ linear combination of  $X_2$  and  $X_4$ , which leads to four invariants, namely

$$f = y, \quad g = z, \quad h = t \quad \phi = u - x, F_2(t),$$

which transform equation(1.1) into

$$\phi_{gh} = 0,$$

and the resulting group-invariant solution of equation (1.1) is

$$u = xF_2(t) + F_5(y,t) + F_6(y,z), \qquad (4.4)$$

with  $F_i$  being arbitrary functions with respect to their arguments.

Lastly, we consider the symmetry combination of  $X_2$  and  $X_6$  and we get the following four invariants:

$$f = z$$
,  $g = t$ ,  $h = x - y - \frac{1}{3}\gamma y$ ,  $\phi = u - \frac{1}{3}\gamma y$ ,

which in turn reduce equation(1.1) into

 $6\,\gamma\,\phi_h\,\phi_{hh} - \gamma^2\,\phi_{hh} + \beta\,\gamma\,\phi_{hhhh} + 3\,\alpha\,\phi_{fg} + 3\,\gamma\,\phi_{fh} + 18\,\phi_h\,\phi_{hh} - 3\,\gamma\,\phi_{hh} + 3\,\beta\,\phi_{hhhh} = 0.$ 

and the associated solution of equation (1.1) is

$$u = 2\beta c_4 \tanh\left(zc_2 + \frac{\left(\gamma^2 c_4 - 4\beta\gamma c_4^3 - 12\beta c_4^3 - 3\gamma c_2 + 3\gamma c_4\right)tc_4}{3\alpha c_2} + \left(x - y - \frac{1}{3}\gamma y\right)c_4 + c_1\right) + \frac{1}{3}\gamma y + c_5,$$
(4.5)

while the corresponding profile representation of solution (4.5) is give in figure 6.



Figure 6: Anti-kink shape soliton profile of (4.5) for the values  $y = 1, z = 1, \alpha = 1, \beta = -1, \gamma = 1, c_1 = 10, c_2 = 5, c_4 = 20, c_5 = 20.$ 

#### 5 Local conservation laws

This section is devoted to the construction of *low-order* conservation laws of equation (1.1). This will be achieved via the multiplier method[9, 5, 4]. In order to derive the multiplier for equation (1.1), one needs to solve the resulting system of linear differential equation that arise from the expansion of

$$\frac{\delta(\Lambda E)}{\delta u} = 0,\tag{5.1}$$

where  $\frac{\delta}{\delta u}$  is the Euler Lagrange operator,  $\Lambda$  denotes the multiplier function which in this context is assumed to be of order zero and E represent equation (1.1)[10, 11]. The analysis of equation (5.1) prompts the following lemma.

**Lemma 1.** Let  $\Lambda$  be a zeroth order conservation law multiplier, then a new (3+1)-dimensional novel KP like equation admits infinitely many zeroth-order multiplier of the form

$$\Lambda = C_1 u_x + F(y,z) + G(t,y),$$

with F and G being arbitrary functions with respect to their arguments.

**Proof.** A straightforward but lengthy computation from  $\varepsilon_u(\Lambda E) = 0$ .  $\Box$ 

**Remark 4.** It is worth pointing out that a new (3+1)-dimensional novel KP like equation admits *identical zeroth-order*, *first-order and second-order* multipliers. This is a commendable observation which is mentioned here for the first time. In general, if one increases the order of the multiplier, then one aims to get higher-order multipliers which in turn leads to higher order conservation laws, but this is not the case with the new (3+1)-dimensional novel KP like equation.

Without loss of generality, we now give the corresponding conserved vectors associated with the above multiplier, namely

$$\begin{split} T_1^t &= \ \frac{1}{4} \, \alpha u u_{xz} - \frac{1}{4} \, \alpha u_x u_z, \\ T_1^x &= \ \frac{1}{2} \, \gamma u_x^2 - \frac{3}{2} \, u_x^2 u_y - \frac{1}{8} \, \beta \, u_{xxx} u_y + \frac{3}{8} \, \beta \, u_{xx} u_{xy} - \frac{5}{8} \, \beta \, u_x u_{xxy} + \frac{1}{4} \, \gamma u u_{xy} + \frac{1}{4} \, \gamma u_x u_y \\ &+ \frac{1}{4} \, \gamma u_x u_z + \frac{1}{4} \, \gamma u u_{xz} + \frac{1}{2} \, \alpha u u_{tz} + \frac{1}{4} \, \delta u_t u_x - \frac{1}{8} \, \beta u u_{xxyy}, \\ T_1^y &= \ -\frac{1}{4} \, \gamma u u_{xx} + \frac{1}{8} \, \beta \, u u_{xxxx} - \frac{1}{2} \, u_x^3 - \frac{1}{4} \, \beta \, u_x u_{xxx} + \frac{1}{8} \, \beta \, u_{xx}^2 + \frac{1}{4} \, \gamma u_x^2 \\ T_1^z &= \ \frac{1}{4} \, \gamma u_x^2 - \frac{1}{4} \, \gamma u u_{xx} - \frac{1}{4} \, \alpha u u_{tx} + \frac{1}{4} \, \alpha u_t u_x; \\ T_F^t &= \ -\frac{1}{2} \, \alpha \, (u \, F_z \, (z, y) - F \, (z, y) \, u_z) \,, \\ T_F^x &= \ \frac{3}{4} \, u u_x \, F_y \, (z, y) + \frac{3}{4} \, u u_{xy} F \, (z, y) - \frac{9}{4} \, u_x u_y F \, (z, y) + \frac{1}{4} \, \beta u_{xx} \, F_y \, (z, y) + \gamma u_x F \, (z, y) \\ &- \frac{3}{4} \, \beta u_{xxy} F \, (z, y) - \frac{1}{2} \, \gamma u \, F_z \, (z, y) - \frac{1}{2} \, \gamma u \, F_y \, (z, y) + \frac{1}{2} \, \gamma u_y F \, (y, z) + \frac{1}{2} \, \gamma u_z F \, (y, z) \,, \\ T_F^y &= \ -\frac{3}{4} \, u_x^2 F \, (z, y) - \frac{3}{4} \, u u_{xx} F \, (z, y) - \frac{1}{4} \, \beta u_{xxx} F \, (z, y) + \frac{1}{2} \, \gamma u_x F \, (z, y) \,, \\ T_F^z &= \ \frac{1}{2} \, \alpha u_t F \, (z, y) + \frac{1}{2} \, \gamma u_x F \, (z, y) \,; \end{split}$$

$$\begin{split} T_G^t &= \frac{1}{2} \alpha u_z \, G \left( t, y \right), \\ T_G^x &= \frac{3}{4} u u_{xy} \, G \left( t, y \right) - \frac{9}{4} u_x u_y \, G \left( t, y \right) + \gamma u_x \, G \left( t, y \right) - \frac{1}{2} \gamma u \, G_y \left( t, y \right) + \frac{1}{2} \gamma u_y \left( t, y \right) \\ &\quad + \frac{1}{2} \gamma u_z \left( t, y \right) - \frac{3}{4} \beta u_{xxy} \, G \left( t, y \right) + \frac{3}{4} u u_x \, G_y \left( t, y \right) - \frac{1}{4} \alpha \beta u_{xx} \, G_y \left( t, y \right), \\ T_G^y &= \frac{1}{2} \gamma u_x \, G \left( t, y \right) - \frac{3}{4} u_x^2 \, G \left( t, y \right) - \frac{3}{4} u u_{xx} \, G \left( t, y \right) - \frac{1}{4} \beta u_{xxx} \, G \left( t, y \right), \\ T_G^z &= -\frac{1}{2} \alpha u \, G_t \left( t, y \right) + \frac{1}{2} \gamma u_x \, G \left( t, y \right) + \frac{1}{2} \alpha u_t \, G \left( t, y \right). \end{split}$$

It is worth mentioning that due to the presence of the arbitrary elements in the conserved vectors, then the new (3+1)-dimensional novel KP like equation admits an infinite number of local conservation laws.

### 6 Conclusions

In this paper we obtained topological soliton solutions and periodic solutions of a new (3+1)-dimensional novel KP like equation. In addition, other analytical solutions based on Lie symmetries method have been attained. Furthermore,

2632

conservation laws for the aforesaid equation were derived using the multiplier method. The correctness of the obtained solutions have been verified with Maple software package by back substitution. It is anticipated that the solution obtained can be used as benchmark with the numerical simulation.

## References

- G.W. Bluman and S. Kumei, Symmetries and Differential Equations, Springer-Verlag, New York Applied Mathematical Sciences, 1989.
- [2] S.J. Chen and X. Lü, Lump and lump-multi-kink solutions in the (3+1)-dimensions, Commun. Nonlinear Sci. Numer. Simul. 109 (2022), 106103.
- [3] M.L. Gandarias and M.S. Bruzon, Some conservation laws for a forced KdV equation, Nonlinear Anal. Real World Appl. 13 (2012), no. 6, 2692–2700.
- [4] M.L. Gandarias and M.S. Bruzon, Symmetry analysis and exact solutions of some Ostrovsky euqtions, Theoret Math. Phys. 168 (2011), no. 1, 898–911.
- [5] M.L. Gandarias and M.S. Bruzon, Traveling wave solutions for a generalized Ostrovsky equation, Math. Meth. Appl. Sci. 41 (2018), no. 15, 5840–5850.
- [6] X.J. He and X. Lü, M-lump solution, soliton solution and rational solution to a (3+1)-dimensional nonlinear model, Math. Comput. Simulation 197 (2022), 327–340.
- [7] N.H. Ibragimov, CRC Handbook of Lie Group Analysis of Differential Equations, Vol 1-3, CRC Press Boca Raton Florida, 1994-1996.
- [8] C.K. Kuo and W.X. Ma, An effective approach for constructing novel KP-like equations, Waves Random Complex Media 32 (2022), no. 2, 629–640.
- R. Naz, F.M. Mahomed and D.P. Mason, Comparison of different approaches to conservation laws for some partial differential equations in fluid mechanics Appl. Math. Comput. 205 (2008), no. 1, 212–230.
- [10] P.J. Olver, Applications of Lie Groups to Differential Equations, 2nd edition, Graduate Texts in Mathematics, Springer-Verlag, Berlin, 1993.
- [11] H. Steudel, Uber die Zuordnung zwischen Invarianzeigenschaften und Erhaltungssatzen, Zeit. Naturforsch 17 (1962), no. 2, 129–132.
- [12] H. Triki, A. Benlalli and A.M. Wazwaz, Exact solutions of the generalized Pochhammer-Chree equation with sixth-order dispersion, Roman. J. Phys. 60 (2015), 935–951.
- [13] H. Triki and A.M. Wazwaz, Bright and dark soliton solutions for a K(m, n) equation with t-dependent coefficients, Phys. Lett. A **373** (2009), 2162–2165.
- [14] A.M. Wazwaz, New (3 +1)-dimensional Date-Jimbo-Kashiwara-Miwa equations with constant and time-dependent coefficients: Painlevé integrability, Phys. Lett. A 384 (2020), 126787.
- [15] Y. Yıldırım and E. Yasar, A (2+1)-dimensional breaking soliton equation: Solutions and conservation laws, Chaos Solitons Fractals 107 (2018), 146–155.